ks

EM OS2

AR T

LA &2IE, A &8t M2l

2 B, Fs, ot 2 A &E M2l

AHIQIE[A AR HA:
LIAF €215, XHoi™ ntF 2.
= E, ook 2 XHed™ ohR 2.

HE, AMM e= AMS S whZk RAL3020.

s,

olelA ZHXE 5 EO2 Qlsl &2 X7} HaH Ele XS WX

57| I ASELICH HAY EEE =822 E0{0FE CHE & F /IR
St o 0|

. O IHA E-K{ o] Z2 HH BItHE 0l&3t0d
ELICH BlH7F HAO| A 9|2 o|SstH QA X7 EEI HE

[ ——— =T:
IEC 2160 [ & 215 A8 2%, Z[CH 160 C.
Et7| AL 2%, |0l 250 C.

Q-x-l.

=

Etesto wE
X

HMIME:

A 10| M & K0665.

OlHlA ZHXIB ZX|IME B4 K1290.
=ailoly #& K0638.

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



[ ]
AEICCE= A (o] A AEIO|CA = =dlAE o
LB = AHQIA AR QIHA SRX, SELLE] Hel g 9
(=)
=
=M
®
y a4
-0
N '
S [T T
~ SWi1 '
= | |
| ‘
v |
RIMIEE:
D1
— I
& —<|—| --------- G
| — —
A
Al
= g9
FEHS = " & TEHE M EF A AMM B BI1D D1 AEZ3 L L1L2L3SW1Fx30° A& EtM
o] S Bt BB
F1 2. NF2 9. N
K1584.8105 AE a4 A 31,741,717,9129 5 M10x1 5 3917715 13 1.3 5 12
K1584.8206 ESS a4 A 31,641,717,912,9 6 M12x1,5 6 44 20817 14 1,8 6 14
K1584.8308 AE a4 A 55,567,826,919,4 8 M16x1,5 8  56,9261023 19 2,3 15 35
K1584.8410 AE A4 A 53,467,826,919,410M20x1,5 10 62,9281225 22 2,8 15 34
K1584.8105154 ESS M5 S ¥WZ RAL3020 A 31,741,717,9129 5 M10x1 5 3917715 13 1.3 5 12
K1584.8206154 AEl M5 S ¥WZ RAL3020 A 31,641,717,912,9 6 M12x1,5 6 44 20817 14 1,8 6 14
K1584.8308154 AE A5 S Wz RAL 3020 A 55,567,826,919,4 8 M16x1,5 8 56,9261023 19 2,3 15 35
K1584.8410154 AEl 45 S ¥Z RAL3020 A 53,467,826,919,410M20x1,5 10 62,9281225 22 2,8 15 34
K1584.18105 AEI2IBA AR 444 A 31,741,717,9129 5 M10x1 5 3917715 13 1,3 5 12
K1584.18206 AE/QIE|A AE a3 A 31,641,717,912,9 6 M12x1,5 6 44 20817 14 1,8 6 14
K1584.18308 AH|QlEA AR 44 A 55,567,826,919,4 8 M16x1,5 8 56,9261023 19 2,3 15 35
K1584.18410 AE(2IBA AR 444 A 53,467,826,919,410M20x1,5 10 62,9281225 22 2,8 15 34
K1584.18105154 AE(QIEIA AR A5 S WZ RAL3020 A 31,741,717,9129 5 M10x1 5 3917715 13 13 5 12
K1584.18206154 AE|RIEI|A AL A5 S ¥WZ RAL3020 A 31,641,717,912,9 6 M12x1,5 6 44 20817 14 1,8 6 14
K1584.18308154 AE|QIZ|A AEl A5 S Wz RAL3020 A 55,567,826,919,4 8 M16x1,5 8  56,9261023 19 23 15 35
K1584.18410154 AE|QIEIA AR A5 S WZ RAL3020 A 53,467,826,919,410M20x1,5 10 62,9281225 22 2,8 15 34
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



